
TABLELA KOMPENSACJI
KOMPENSACJA ODDECHOWA KOMPENSACJA METABOLICZNA

Problem pierwotny: 
zmiana w wartości 
HCO3-

Kompensacja pCO2
Problem pierwotny: 
zmiana w wartości 
pCO2

Ostra kompensacja 
HCO3-

Przewlekła 
kompensacja HCO3-

pCO2 = 0,7 x (HCO3- 
- 24) + 40

nie rośnie 
kompensacyjnie 

powyżej 50

HCO3- rośnie o 1 
mmol/l na każde 10 

mmHg pCO2 
powyżej 40 mmHg

nie rośnie 
kompensacyjnie 

powyżej 45

100 30 45
97 30 44
94 29 42
91 29 43
88 29 42

40 49 85 29 40
39 48 82 28 39
38 48 79 28 38
37 47 76 28 37
36 46 73 27 36
35 46 70 27 35
34 45 67 27 34
33 44 64 26 32
32 43 61 26 31
31 43 58 26 30
30 42 55 26 29
29 41 52 25 28
28 41 49 25 27
27 40 46 25 26

WARTOŚCI PRAWIDŁOWE
22 42 34 23 21
21 41 33 23 21
20 39 32 22 20
19 38 31 22 20
18 36 30 22 19
17 35 29 22 19
16 33 28 22 18
15 31 27 21 18
14 30 26 21 17
13 28 25 21 17
12 27

HCO3- spada o 2 
mmol/l na każde 10 

mmHg pCO2 
poniżej 40 mmHg

HCO3- spada lub 
rośnie o 4-5 mmol/l 
na każde 10 mmHg 

pCO2 poniżej 40 
mmHg

11 25
10 24

9 22
8 21
7 19
6 18
5 16

pCO2 = 1,5 x HCO3- + 8


